
(c) 2012 Orion Robotics. All Rights Reserved.

Razor									         Assembly Guide

Razor 
Assembly Guide



(c) 2012 Orion Robotics. All Rights Reserved. 2

Razor										          Assembly Guide

Introduction
All Orion Robotics brackets are made in the USA. We fabricate them using a large in-house industrial 
laser. We anodized our brackets to prevent oxidation. This gives the bracket a much better look and 
longer life.

Tools
There are some basic tools you will need to get started. A good set of Phillips screw drivers and small 
pliers. Different sized screws are used throughout each robot. So more than one size Phillips is a good 
ideal. 

Safety
When working with robots some basic safety rules should be followed:

1. Eye protection should be worn at all times.

2. Some bracket edges can be sharp and can easily cut you.

3. The robots are powered from lithium polymer, or Li-Po batteries with high discharge rates. If shorted 
or incorrectly connected they can easily cause fire or other damaged.

4. When working with the robots there are several pinch points. Be aware as this will hurt if you get 
caught in them.

5. Don’t be in a rush when assembly your robots. Injury or damaged parts can easily result. Take your 
time and double check each step.



3(c) 2012 Orion Robotics. All Rights Reserved.

STEP 1

2x

1x
M3X8

Flathead

1x

1x
M3N

M3LW

1x
M3W



(c) 2012 Orion Robotics. All Rights Reserved. 4

STEP 2

4x
M3X6



5(c) 2012 Orion Robotics. All Rights Reserved.

STEP 3

2x
BEARING



(c) 2012 Orion Robotics. All Rights Reserved. 6

STEP 4



7(c) 2012 Orion Robotics. All Rights Reserved.

STEP 5

2x
E-CLIP



(c) 2012 Orion Robotics. All Rights Reserved. 8

STEP 6

2x
M4X8

2x
M4LW



9(c) 2012 Orion Robotics. All Rights Reserved.

STEP 7

2x
BEARING



(c) 2012 Orion Robotics. All Rights Reserved. 10

STEP 8
2x
E-CLIP



11(c) 2012 Orion Robotics. All Rights Reserved.

STEP 9

2x
M3X8

2x
M3LW



(c) 2012 Orion Robotics. All Rights Reserved. 12

STEP 10

2x
M3X12

2x
M3W

2x
M3N



13(c) 2012 Orion Robotics. All Rights Reserved.

STEP 11

1x
M3S



(c) 2012 Orion Robotics. All Rights Reserved. 14

STEP 12

1x
M3X8

1x
M3W

1x
M3LW



15(c) 2012 Orion Robotics. All Rights Reserved.

STEP 13

2x

1x
M3LW

1x
M3N

1x
M3W

1x
M3X8

Flathead



(c) 2012 Orion Robotics. All Rights Reserved. 16

STEP 14

4x
M3X6



17(c) 2012 Orion Robotics. All Rights Reserved.

STEP 15

2x
BEARING



(c) 2012 Orion Robotics. All Rights Reserved. 18

STEP 16



19(c) 2012 Orion Robotics. All Rights Reserved.

STEP 17

2x
E-CLIP



(c) 2012 Orion Robotics. All Rights Reserved. 20

STEP 18 

2x
M4X8

2x
M4LW



21(c) 2012 Orion Robotics. All Rights Reserved.

STEP 19

2x
BEARING



(c) 2012 Orion Robotics. All Rights Reserved. 22

STEP

2x
E-CLIP



23(c) 2012 Orion Robotics. All Rights Reserved.

STEP 20

2x
M3X8

2x
M3LW



(c) 2012 Orion Robotics. All Rights Reserved. 24

STEP 21

2x
M3X12

2x
M3W

2x
M3N



25(c) 2012 Orion Robotics. All Rights Reserved.

STEP 22

1x
M3S



(c) 2012 Orion Robotics. All Rights Reserved. 26

STEP 23

1x
M3X8

1x
M3W

1x
M3LW



27(c) 2012 Orion Robotics. All Rights Reserved.

STEP 24

18x
M3X8

18x
30MM



(c) 2012 Orion Robotics. All Rights Reserved. 28

STEP 25

8x
M2.5X6



29(c) 2012 Orion Robotics. All Rights Reserved.

STEP 26

8x
M2.5X6



(c) 2012 Orion Robotics. All Rights Reserved. 30

STEP 27

3x
M3N

3x
M3X8

3x
M3W



31(c) 2012 Orion Robotics. All Rights Reserved.

STEP 28



(c) 2012 Orion Robotics. All Rights Reserved. 32

STEP 29

3x
M3N

3x
M3X8

3x
M3W



33(c) 2012 Orion Robotics. All Rights Reserved.

STEP 30



(c) 2012 Orion Robotics. All Rights Reserved. 34

STEP 31

4x
M3X8

4x
20MM

3x
M3X8



35(c) 2012 Orion Robotics. All Rights Reserved.

STEP 32

18x
M3X8



(c) 2012 Orion Robotics. All Rights Reserved. 36

STEP 33

4x
M2.5X6 4x

M2.5X6
4x
M2.5X6 4x

M2.5X6



37(c) 2012 Orion Robotics. All Rights Reserved.

STEP 34



(c) 2012 Orion Robotics. All Rights Reserved. 38

Razor										          Assembly Guide

Controller Functions
The following tables defines each PS2 controller button function in the default Arduino program.

PS2 Button Function Notes
Right Joystick Up Forward
Right Joystick Down Reverse
Right Joystick Left Turn Left
Right Joystick Right Turn Right
Select Activate/Deactivate

	

L

L

R

R



39(c) 2012 Orion Robotics. All Rights Reserved.

Razor									         Assembly Guide

Wiring Table

From To
Battery + Vin
Battery - GND
Right Motor + Roboclaw M1+
Right Motor - Roboclaw M1-
Left Motor + Roboclaw M2+
Left Motor - Roboclaw M2-
Roboclaw S1 P0
Roboclaw S2 P1
PS2 Controller P6

	



(c) 2012 Orion Robotics. All Rights Reserved. 40

Razor										          Assembly Guide

Warranty
Orion Robotics warranties its products against defects in material and workmanship for a period of 
90 days. If a defect is discovered, Orion Robotics will, at our discretion, repair, replace, or refund the 
purchase price of the product in question. Contact us at support@orionrobotics.com. No returns will 
be accepted without the proper authorization. 

Copyrights and Trademarks
Copyright© 2012 by Orion Robotics, Inc. All rights reserved. 

Disclaimer
Orion Robotics cannot be held responsible for any incidental, or consequential damages resulting 
from use of products manufactured or sold by Orion Robotics or its distributors. No products from 
Orion Robotics should be used in any medical devices and/or medical situations. No product should 
be used in a life support situation. 

Contacts
 
	 Email: sales@orionrobotics.com 
	 Tech support: support@orionrobotics.com 
	 Web: http://www.orionrobotics.com 

Discussion List
A web based discussion board is maintained at  http://www.orionrobotics.com.

Technical Support
Technical support is made available by sending an email to support@orionrobotics.com. All email will 
be answered within 48 hours. All general syntax and programming questions, unless deemed to be a 
software issue, will be referred to the on-line discussion forums.


